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3 nfd 95 km/hr &
125 kmvhr | Th QR H R FA § &
fpaaT ava @ ?

(a) 209HS

(b) 1839%E

(¢) 163%E

d) 149%E

s Juh! i #, faenfedt 1 9 km ¥R

¥ vfrpe 30 & forg aftt foe oo St s |

o | AN H Fg T | e & S
@ HE @ 1 " 3R 30 fFe § qu = wHa
2 | aft 7@ 9 B g N M 8 ko/hr 2, A
fordran &1 ifa == gt 2

(a) 16 km/hr
() 20 km/hr
(¢) 14 km/hr
(d) 18 km/hr

T AR 99 % SR F § | 39 e fen o @
it gF: R w1 R fem wmar @ Rt

ot 6 : 7 % U § § | A AR B AR | 7,

4200 sq.cm 2, A I i B T e
Bt 2

(a) 40cm

(b) 42cm

(¢) 4lcm

(d 35cm

o 9 1§, A% wfth HA-AFH Th 9T
2 ) ol F 9 ¥ ¥ - wE, HH gy |

qF 99 HT I 30 ARE g R Smar|

iR A T ERF g W A4 ¥ 1 g
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d 75

(2-A)

A,Baﬂtcaﬁw‘{qmwﬁmz 20, 25 3R ‘

30 f&A # QU T Thd € | A 3R B g et -

30 B H AR FW & | a¥f, 9 10 &7 =g
WP E | T F IR TR N C e
9 FT 2 | B B @ HE & ¢ H A e
2

(a) 4f&

() 3f&

(c) 51'?‘3

@ efE

Srfaftgg o ¥ FA-a F9 Gt 7@ ' 2

(2 Tl @ 1987 & g0 3R &9 G TSE-EF
} guF W T ToT S &9 F T feme
T o

(b) P 9B Th 99 TSI-87 91

(©) T4 gieT Afufyem, 1956 G Hrteeh i
T3 fopan T e

@ 1960 § s TSA WY oA R HEW |
forvrn foram rm e

foffigs & @ freR W@ & sl o
Sqursgafer S 1 ug 7T T @ 2

(a) TAIPH TUTHVH
(b) R g8
(¢) . AR, TN

@ o oia $

YRG & SFAT, 2011 % ITER, WRA I
fraffae o @ fra gl W @iew el
1 gfererq e e 8 2

(a) Al
(b) TS

(© G
£

(d



1.

KSDG-A-GIP

PART A

GENERAL ABILITY AND INTELLIGENCE

Two trains are approaching each other on
parallel tracks. Their lengths are 700 m and
400 m, respectively. The speed of the first
train is 95 km/hr and that of the second train
is 125 km/hr. The time required by the trains
to cross each other is :

(a) 20 seconds

(b) 18 seconds

(c) 16 seconds

(d) 14 seconds

In a swimming competition, the players were
asked to swim 9 km upstream and then swim
back to the point of starting. The winner of the
competition could complete the task in 1 hour
and 30 minutes. If the speed of the current of
the river water was 8 km/hr, the speed of the
winner is :

(a) 16 km/hr

(b) 20 km/hr

() 14km/hr

(d 18km/hr

A wire is in the shape of a circle. It is
straightened and reshaped into a rectangle
whose sides are in the ratio 6 : 7. If the area of
the rectangle is 4200 sq.cm, the radius of
circle is, approximately :

(a) 40cm

(b) 42cm

(¢ 4lem

d 35cm

In a party, each person takes at least one
beverage. There are three beverages in the
party — tea, coffee and milk. Each beverage is
consumed by 30 persons. Five persons, who
take tea, also take milk. Ten persons, who
take milk, also take coffee. However, no
person takes tea and coffee both. How many
persons are there in the party ?

(a 90
(b) 85
(c) 80
@ 75

(3-

5.

7.

A)

A, B and C alone can finish a job in 20, 25 and
30 days, respectively. A and B together start
doing the job. However, they leave it after
10 days. The remaining part of the job is
finished by C alone. How many days did C
take to finish the job ?

(a)
(b)
(¢) b5days

(d)

4 days
3 days

6 days

Which one of the following statements is not

correct ?

(a) Goa was established as a State by
separating it from Union Territory of
Daman and Diu in 1987

(b) Mizoram was earlier a Union Territory

() Karnataka was created by the States
Reorganisation Act, 1956

The State of Bombay was bifurcated into
Gujarat and Maharashtra in 1960

(d)

Who amongst the following has not occupied
the office of both President and Vice President
of India ?

(a) Sarvepalli Radhakrishnan

(b) Zakir Hussain

(¢) KR.Narayanan

(d) Neelam Sanjiva Reddy

As per the Census of India 2011, which one
among the following Scheduled Languages of
India has the highest percentage of speakers ?

(a) Bengali
(b) Marathi
(¢) Telugu
(d) Urdu
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e § gard o9 genal % aR # fefafea

A P wy aE 7T R 2

(a) TAH WA W g=Edl § FeaE & 9l
Fa T % FU-A-H w-faes g e
¥ forg amfera &

) T P % ol bl A sEha
wifEt ot srgfua et & fog
ARV HT I B

© dfe Ews q, @ Tsa 3 feg o
(OBCs) & o maon &1 g™ W
Tha &

@ vama fatew sEn % faw, W@ *
Tl g TR % WY ¥ U
fraten amye g fen S @

G % Geud % Agedg 14 F AFIER

frafofga § ¥ FH-A1/HHA 99 Th /2 ?

1. 9% 14 Haw a9 AN B e fom
fpft qFETd YR % @AM R HGW
qifeufemt aret ¥ wrg gaget favg foman
i

9. IgeRE 14 W@ % Toaad # ffy
guy gwa a1 IRl & aum @ H
T YEH T 2

1 fw e g2 @ FFd IW A

(@ %A 1

(b) HIA 2

© 13R2eH

@ FAMLAE2
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(a) SHI: 1861 3R 1881

(b) THE: 1776 3R 1801

(c) HWAY: 1872 3 1881

(d) 3N 1881 3R 1891
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T A T A FEG R ?
(a) GﬂTlé

(b) @t

() s
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- R Y A T,

(a) TR 1 9g T I Bl A
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accounts) 3 Al w1 g T A9

© Wi v f sgfE sEame
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1. S T W a9 I R Al S
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3. & A4 F A § iad
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(b) had 130 2

(¢ 1,233

(d) *ad 3

. s shea § dat (dreh), Feafafa #

Q¥ fopg Am @ S T R 2

(a) g I H I WIg

(b) TN AETE B TH WA 55
(c) WEUGH g H Teh

@ oy WRW F vl T
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Which one of the following statements about
Panchayati Raj Institutions in India is not
correct ?

(a) Not less than one-third of the total
number of the offices of Chairpersons in
the Panchayats at each level are
reserved for women

Reservation for Scheduled Castes and
Scheduled Tribes are provided for at all
the three levels of local bodies

States can provide for reservations for
the Other Backward Classes (OBCs), if
needed

State  Election Commissioner is
appointed by the President of India on
the advice of the Governor to conduct
Panchayat elections

(b)

(c)

(d)

Which of the following statements in terms of
Article 14 of the Constitution of India is/are
correct ?

1. Article 14 would apply only when
invidious discrimination is meted out to
equals and similarly circumstanced
without any rational basis

2. Article 14 guarantees equality before the
law or the equal protection of the laws
within the territory of India

Select the correct answer using the code given
below :

(a)
(b)
(¢) Both1and?2

(d) Neither 1 nor 2

1 only
2 only

In which year was the first All India Census
attempted and from which year did the
Decennial Census become a regular feature ?

(a) 1861 and 1881 respectively
(b) 1776 and 1801 respectively
(c) 1872 and 1881 respectively
(d) 1881 and 1891 respectively

(5-

12.

13.

14.

15.

A)

Damin-i-Koh is essentially associated with
which of the following tribes of India ?

(a) Lushai
(b) Khasi
(¢) Toda
(d) Santhal

Which one of the following statements about
the headman of the village panchayat in
medieval India is not true ?

(a) The office of the headman was always
hereditary

The chief function of the headman was
to supervise the preparation of village
accounts

One of the duties of the headman was to
ensure the proper working of the caste
system

(b)

(c)

(d) In eastern India, all marriages were

held in the presence of the headman

Which of the following do/does not represent a
break between the Early Harappan cultures
and the Mature Harappan civilization ?

1. Large-scale burning at some sites
2. Abandonment of certain settlements
3. A shift in the course of the Hakra river

Select the correct answer using the code given
below :

(a) 1lonly

(b) 1and 2 only
(¢) 1,2and3
(d 3only

Tosali is known in Indian History as the name
of :
(a)
(b)
(¢)  wife of Mahapadma Nanda.
(d)

the Jain brother of the Buddhist Upali.

a provincial centre in Mauryan Empire.

a sacred river in Andhra Pradesh.



16. f=afafga & @ =la o9 7 Afm =1 W

22
(@) femrae e
(b) fTuftem
(c) HEH
@ afem
17. SHal 2020 S TR IR TR WA qAT GHOT
R §& T UsH-aE o faem femm mm g
frafafea & @ fea 7R =t foefi o9 osaam
& T &R T 2
(a) QI
(b) <4
(© <HU
@) foeaEmE
18. fawdfmn sta & @ A, Fefafes o @
-1 /HH-A w4 T8 B/8 2
1. WmIFaIRW AIA g
2. 3WHT §ABA 50,000 sq. km & 31fe B
3. 9% Iuhih fwe widt & foora 2
9= few MY e 1 wE W @ IW gF
(a) wHad 1
(b) hadl 1 3R 2
() Fad 2
@ 1,23W3
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20.

21.

22.

19. Frafafgs 3 4 Fw TR e F T AR F

form feug 787 22
e (i)
Yeawen (g Hieets)
hrei (W)
forrm (arifegn)

fefafigs § 4@ S99 TR @ H @E *
formt o 78F €2

L

3

IR

LK

Hr fiw e Fe w1 vE W ad W gAY
(a) Had 13 2

(b) Haet 13K 3

(c) had 23 3

(d) Had 33 4

(a)
(b)
(c)
(d)

WP

@ d A s, s S FA waa R 2
(a) iy fogeA

(b) TR gerA

(c) TEeh fufsrn

(@ IHTEES sttt

ad 2022 ¥ Wfashl (Physics) ® ed TR
forass foT ygm femam w2

(a)
(b)
(c)
(d)

F|ITe 1 fa™@ (Evolution of Universe)
Ty @‘W‘lﬁ'{ (Quantum Entanglement)
=i 81 (Black hole)

Au Nfeh (Laser Physics)



16. Which one of the following states is part of the
Ganga Basin ?
(a) Himachal Pradesh
(b) Sikkim
(¢) Assam
(d Odisha

17.  Union Territories of ‘Dadra and Nagar Haveli’
and ‘Daman and Diu’ were merged together in
January 2020. Which one of the following
cities was made capital of the merged Union
Territory ?
(a) Dadra
(b) Diu
(¢) Daman
(d) Silvassa

18. With reference to Lake Victoria, which of the
following statements is/are correct ?
1.  The lake is divided among four countries
2. Its area is more than 50,000 sq. km
3. It is situated in the African rift valley
Select the correct answer using the code given
below :
(a) 1lonly
(b) 1and2only
(c) 2only
(d 1,2and3

KSDG-A-GIP (7~

19.

20.

21.

22.

A)

Which one of the following cities is not
situated along river Rhine in Europe ?

(a)
(b)
(c)
(d)

Strasbourg (France)
Rotterdam (The Netherlands)
Cologne (Germany)

Vienna (Austria)

Which of the following cities are not situated

along the Persian Gulf ?
1. Doha

2.  Dubai

3. Jeddah

4. Yanbu

Select the correct answer using the code given
below :

(a)
(b)
(©)
(d)

1 and 2 only
1 and 3 only
2 and 3 only
3 and 4 only

Which one of the following is the energy
source of stars ?

(a)
(b)
()
(d)

Nuclear fission
Nuclear fusion
Chemical reaction

Photochemical reaction

The Nobel Prize in Physics in 2022 was
awarded for :

(a)
(b)
(c)
(d)

Evolution of Universe
Quantum entanglement
Black hole

Laser Physics
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T adgu, TS gdam i AERE @ed
frae arfia v T 8 2

(a) foam v

(b) & HACHE

(© Yt foqm Haver

@ fasm iR Penfieh wore

a8 2022 % IER, wid # TREHE wie R
st wfye gwar Fefafes & @ A
22

(a) TS 45000 MW

(b) T 23000 MW

(c) TV 7000 MW

(d) TOTHT 2000 MW

50 kg TN AT IS SAfth U fowe d @
2| AR R 1 w/s? & I % A FEE-fewm A
wfy w2, @ 36 safe w1 9K fhas PR
qm 2

(a) 490N

(b) 540N

(c) 440N

(d 50N

ety & gay § frafafga § ¥ S0 9 F@
22

(a) I= ARG @ 3= iy A 3

(b) I AR @ W I AW AT &

(© = aed wafy § 3= A1 (speed) B B

@ = e @i § i sl ol =
M B 3

(8-A)

27. T ANES (climber) 130 m S fFft ag &~

i o g e ® | 98 O e # o i
w5 a1 § | qufy, 9 & 7@ 5 e @ 3,
a8 TS e A= h A frue S @ | e
fopan o # ofid W wgem 2

(@) 2% 10fme
(b) 2% 45fme
© 2% 42fFe
(d 2% 40fFe

. T SR HI 9RAT 5000 FOH # 44 km H gl 7

war & | ufge i s feaft 2 2

(a) 1l4cm
(b) 7cm

(¢) 28cm
d 25cm

G (347)192 x (143)20° ¥ TR €A (unit

place) 9 HHH HAF 8 ?
(a)
(b)
()
(d

W ~ = ©

. 9% aed s A R, R 9 @ o FH W

qTE BN I PG S @ft T W FEA I
5 & ?

(a) 95283955

(b) 61728395

(c) 12345675

(d) 59382716




" 23,

Survey of India, the national survey and
mapping organization, works under the :
(a) Ministry of Education
(b)  Ministry of Home Affairs
(¢) Ministry of Earth Sciences
(d) Ministry of Science and Technology
24. As of 2022, which one of the following is the
estimated installed capacity of nuclear power
in India ?
(a) About 45000 MW
(b)  About 23000 MW
(c) About 7000 MW
(d) About 2000 MW
25. A person of mass 50 kg is standing in a lift. If
the lift moves in upward direction with an
acceleration of 1 m/s2, then the weight of the
person will be closest to :
(a) 490N
(b) 540N
(¢) 440N
d 50N
26. Which one among the following statements
regarding sound is correct ?
(a) High pitch sound has high frequency
(b)  High pitch sound has high amplitude
(c)  High pitch sound has high speed
(d) High pitch sound has low frequency and
high amplitude
KSDG-A-GIP (9~

27.

29.

A)

A climber tries to reach the top of an object
which is 130 m high. He can climb one metre
per minute. However, as soon as he completes
5 metres, he slips down by one metre. The
climber will reach the top in :

(a)
(b)
(c)
(d)

2 hours 10 minutes
2 hours 45 minutes
2 hours 42 minutes

2 hours 40 minutes

The wheel of a car covers a distance of 44 km
in 5000 revolutions. The radius of the wheel

is:

(a) 14cm
(b) 7cm

() 28cm
(d 25cm

The digit in the unit place of the number
(347)192  (143)205 ig .

(a) 9
b 1
© 7
@ 3

What is the smallest number, which when
multiplied by 9 gives the product having the

digit 5 only in all places ?
(a) 95283955
(b) 61728395
() 12345675
(d) 59382716
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w R o, IR TR A F 4R
2 af aIfr § | I Y A T i g &
57 & oft 2 ad atfres R 1 i, T ST A
shaa amg 20 @ | o <t g e R 2
(a) 6d4

b 1299

(¢) 1094

@ 8=

fofifga § @ HAE, YNd & AfUE &

WAT-III & Ien-afifd TS (the State) &g

1 Taifrs gde g 8 2

(1) U9 TR, aft U9 wER 3R WA &

T5u-89 % ofier oft v wifereerd

ag @ gue o T & faummsa

(State Legislatures)

(c) WY TR I 9Ra ) T8

@ €9 TR, gt T GEhR, WRA 6 TS
ot aeft o9 fumues iR W *

T8 % i oft wrf @1 3=
Tftrer

frafuflga § ¥ @ ToHRS @ wia A
memﬁﬁwm(seats)%
e 3 fdfta T W@ ?

(a) mwmm

(b) wEFRR aiél 31T sfem

(0 Hiaew SIS %

@ HrafeRe ut

e i afrm T idean QA 4
w0 R ?

(a) EUTEA TN

(b) T

(c) TETEH

@ frem

(b)

35.

36.

317.

38.

39.

(10-A)

i ) g@e ) | omn affa % dew b,

frafafga § @ S9-91/AH-3 w91 Tt 2/3 2

1. 98 ufufa af 1921 ¥ e o ong off

9. TP TS ¥ T, I8 Y (Speaker)
Frizomedi gud wfifa & o6

9 fg e g2 H M W TR I AT

(a) had 1

(b) HaA 2

(c) 130X 2

@ JTdL,a&2

9 reoId 5w # gfe @, wra | 3 &
ST A & 2

(a) U W, e We¥ R SHfaTe
(b) ThoiRH, STEUTEe Seu SR AuTeE

(c) USRS YN, WERISg R nfewm

(d W TR, S 3K AEgRSg

SRR Tonett ® & Reaw v s e
# qomem gey % &9 # fRr mn R, S Ay
(@) 6 wgfg ok swy (R) F =
HRT 8 ?

(a) TG SqeRoft

(b) S

(c) GHA™

@ wHE

Srafafgs § @ S afa Ty, SR 4
geift 8 2

(a) PR FeTs

(b) ReTam#ra

(c) @oHIRTT

@ ey

frfiRea o @ fray 7e1 weu # @i & T=E
e % g ot yorEd % B # ARH
78t fan 2

(a) WESEI ST

(b) S "

(c) YedH J&l ™

(d) .. TR




31. A father’s age is 2 years more than 4 times the
age of his son. His age is also 2 years more
than 5 times the age of his daughter. The
average age of the father, the son and the
daughter is 20 years. What is the age of the
daughter ?

(a) 6years

(b) 12years

(¢) 10years

(d) 8years

32, Which one of the following is the most
accurate meaning of the term ‘the State’, as
defined in Part-IIl of the Constitution of
India ?

(a) The Union Government, all State
Governments and all local authorities
within the territory of India

(b) The Parliament of India and State
Legislatures

(¢) The Union Government and the
Parliament of India

(d The Union Government, all State
Governments, Parliament of India and
all State Legislatures and all local or
other authorities within the territory of
India

33. Which one among the following political
parties came second in terms of seats won in
the first Lok Sabha election in India ?

(a) Kisan Mazdoor Praja Party

(b) Communist Party of India

(¢) People’s Democratic Front

(d) Socialist Party

34. Which one of the following States has less
than two Lok Sabha seats ?

(a) Arunachal Pradesh

(b) Goa

(¢) Meghalaya

(d) Mizoram

KSDG-A-GIP

35.

37.

39.

(11-A)

With respect to the Public Accounts

Committee of the Parliament of India, which

of the following statements is/are correct ?

1. The committee came into existence in
the year 1921

2, It was not a Parliamentary Committee
under the control of the Speaker at the
time of its inception

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(c) Bothland2

(d) Neither 1 nor 2

In terms of area under forest cover, the top
three states in India are :

(a) Madhya Pradesh, Arunachal Pradesh
and Chhattisgarh
Mizoram, Arunachal
Meghalaya

Arunachal Pradesh, Maharashtra and
Odisha

Madhya Pradesh,
Maharashtra

Who among the following kings is described in
an inscription as the Supreme Being, the
cause of the prosperity of the good and the
destruction of the bad ?

(b) Pradesh and

(e
(d)

Odisha and

(a) Gautamiputra Shatakarni
(b) Kanishka

(¢) Samudragupta

(d) Harshavardhana

Which one of the following Tamil texts deals
with grammar ?

(@) Manimekalai
(b) Silappadikaram
() Tolkappiyam
(d) Padirruppattu

Who among the following did not contribute to
the preservation and documentation of the
ancient site of Sanchi in Madhya Pradesh ?

(a) Shahjahan Begum
(b) John Marshall

(¢)  Sultan Jehan Begum
(d> J.M. Kenoyer
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22

(a) <A TEithew

(b) T &g HE

(© tfiede afér SrEra=
@) Hifeg®

frafafes sl W fem Hifsw

7z Hia & f5 98 7@ 7@ 7@ A T o, s@
1950 ¥ THF YEH H 9¢ FF 0 TH JA®
Ueh foan T o | Al T e B HR AR I
iR ot e S ¥ i (S ue) @
e o T o | usda gha rfte 4 g
A 3 7o "R F 3@ WA 5 e ffge
fAfu AR ws) Fulfa wh, T 78 & #
gefifa e o e fean ®

3G 98 & ygam Hife

(a) IR TG}

(b) GHIITEHI T

(© wHi T

@) IegE TR

frafafgs wel w fEm Afe

1. o 2022 ¥, WY U wE@Al 4 T
s, W, IR quRei s %
AR Y wFE AR % § § wd
2 ¢ T Hahed F MR fom

2. WRa 39 uta 3w A A & i, Frel T
9 ¥ 3W Hehed 1 TedE W@l

I & A /PR P G B[R ?

(a) Had 1

(b) A 2

(© 132

@ TN1,T382

(12-A)

43, @O g wefied & o) # foafafes § @

P/ FE T R/E ?

1. 77 93w US4 e ol I i g

wfie sfireagl @fe il e
) ggg HA HI 9w € |

9. Y@ 39 Y& I WTGR & 2 |
#1¥ fu TTe Fe F W@ = g W ghe
(a) ¥ 1

(b) ad 2

(© 13 2gA

(@ TA1,T¢2

44, T R @ o T H wTw @ d

100 ¥ #r 31y ¥ 7eg A 7 | 3% Frafaia &
¥ frad e Nea TR e mn ar 2

(a) TR F1 AfThR

@ HIVIWTE wiefie faswfa s

. wwde ¥ ot ¥, Peffea § 3 dwa/

Y Y wE /T ?

1. 98 gare gt o fwl @ o @ geEE
?

9. W BA%d H R A W F TR S
oY TI-87 R

3. @ W e EEE Wed IR HeEg
nfafaferf €

# g g g H AT HFE I I :

(a) had 13K 2

(b) had 13K 3

(c) <had 23 3

d Fad 1




40. ‘Predator Drones’ are manufactured by :

(a) General Atomics

(b) The Boeing Company

(¢) Lockheed Martin Corporation

(d) PrecisionHawk

41. Consider the following statements :

It was alleged that the river became dead

after its mouth was closed restricting its free

flow in 1950. The entire river bed was
converted into a dumping ground for garbage
and solid and liquid waste. The National

Green Tribunal has recently directed the State

Government to revive the dead river by

earmarking dedicated fund for the purpose.

Identify the river :

(a) Vamsadhara river

(b) Sukapaika river

(¢) Musi river

(d) Ulhas river

42, Consider the following statements :

1. In July 2022, the United Nations
General Assembly adopted a Resolution
recognizing the right to a clean, healthy,
and sustainable environment as a
human right

2. India was one of five countries, which
had originally proposed the Resolution

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Bothland2

(d) Neither 1 nor 2

KSDG-A-GIP

45.

(13-A)

Which of the following statements is/are
correct about Mineral Security Partnership ?

1. It is an initiative to bolster critical
mineral supply chain, established by the
United States of America and other
countries.

2, India is not a partner of this initiative.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

() Bothland2
(d) Neither 1 nor 2

John Goodenough, a Nobel Prize winner,
recently passed away at the age of 100. He
was awarded the Nobel Prize for :

(a)
(b)
(¢) Developing Lithium-ion battery

(d) Developing HIV protease inhibitors

Inventing Chlorpromazine
Inventing Morphine

With reference to Lakshadweep, which of the
following statements is/are correct ?

1. It is an archipelago consisting of coral
islands and reefs

2. It is the smallest Union Territory of
India in terms of area

3. The main occupation of people is
tourism and allied activities

Select the correct answer using the code given

below :

(a) 1and2only
(b) 1and3only
(¢) 2and3only
(d) 1lonly



46. Ffafed § 4 -8 Ju Tfees anR % @ W[40, Frafafea § @ F98 Frren-omnia foge @57

om a7 &2 I R fRm # 2

(a) W R Gde 1. gfefureh

o e sk s 2. =0
3. fomd=h

(¢) et diww o f

(@ e A 9 fe e e w1 v W wd Iw gh
(a) Had 13K 3

47, oy He PR § A R dn d R R 2 (b) I 23R 3

(0) FIEEH (c) Haw 23R 4
(d a1 33N 4

®) Trfifsam

(¢ &4 50. frafafae 9 @ fFg verd =1 3@ wid et

T T8 (lubricant) % &9 & 7gF v Sra1 @ 2
(a) TTHN (Graphene)

d) qhRfEH

(b) ¢ (Talc)

48, ﬂmﬁm%wﬁ,mﬁﬁ (¢) I (Glass)

HH-91 /A FoT adt 8/8 2
(d) ¥ (Sand)
1. @ SIgE afaar & HRo e §
0. 3 o SRR T ¥ 3 i & 51. frafafas & @ $F-a, faftm aon H aodet
% foru wdt svu ) frela w2 2
3. 3 i wrerR R e & (a) FM &R & foe 95w > AM e & et
R e ¢ Fe 1 v = A IR ghe T > GEH a1 > N > G TH™
@ et 13 2 () AM e & fow v > FM e & forg
TIE > Y& T > NG > G FHIW
® e 1303 (c) T a0 > AM e & foIw w6 > FM
() haw 23R 3 e & T g > I > T THW
@ Faws d AM H&at & foe wge > FM e & fag

W > AATH > G TR > g a0l
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Which of the following countries are not|49.

situated along the coast of the Baltic Sea ?
(a) Latvia and Poland
(b) Latvia and Russia

(¢) Sweden and Russia
(d) Sweden and Norway

Lake Balkhash is situated in which one of the

following countries ?

(a) Kazakhstan
(b) Kyrgyzstan
(¢ Russia 50.
(d) Turkmenistan
With reference to the Galapagos Islands,
which of the following statements is/are
correct ?
1. They are formed due to volcanic activity

51,

2. They are part of the South American

nation, Peru
3. They are situated in the Pacific Ocean

Select the correct answer using the code given

below :
(@) 1land2only
(b) 1and3only

(¢) 2and3only

(d 3only

(15-A)

Which of the following coal-based power plants
are situated in Uttar Pradesh ?

1.  Darlipali
2. Dadri
3.  Singrauli

4.  Vindhyachal

Select the correct answer using the code given

below :
(a) 1and3only
(b) 2and 3 only

(¢) 2and4only

(d) 3and4only

Which one of the following substances is not

used as a lubricant in heavy industries ?

(a) Graphene
(b) Talc

(c) Glass

(d) Sand

Which one of the following represents the
correct order for the wavelengths of different

waves ?

(a) Used for FM radio > Used for AM radio

> Microwaves > Infrared > Visible light

(b) Used for AM radio > Used for FM radio

> Microwaves > Infrared > Visible light

(¢) Microwaves > Used for AM radio > Used
for FM radio > Infrared > Visible light

(d) Used for AM radio > Used for FM radio

> Infrared > Visible light > Microwaves




52.

53.

54.

55.
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Faie & It % nErfaenie (fom ) faga &
AR, TS h A g e foreedt @ 2
@ 03 fiform ad

®) 4 -6 faferm ad

© 17-10 fafam af

(@ 13- 18 faferaa o

et fifs &1 qUH 240 K & We 210 K &
ST & | faft wiese §, qume § dra giads
(fors & form) fopaeb e &P 2

(a)
(b)
(¢ 17°F
@

54° F
30°F

44° F

yrg § F=fifea § @ fra v # dinsw i
g8 Aftres @ud Bl ? ?

(a) F

(b) P
(c) Q?Pﬂ (Eﬁﬂ)

(d) @aq

fr=afafaa 4 9@ R faafim ffsan 1S9
HHT a8 ?

(a) TR A (Christiaan Eijkman)
(b) WeElF EMfPH (Frederick Hopkins)
(c) HIRAPR % (Casimir Funk)

(d) U« gea@ (Robert Woodward)

56.

57.

(16-A)

WA § T % S IS (TOFI) A JATRS
Reg T B W STTHE (USAID) 3R
G YR & qaiawer, aq 3R Seary iedd
TAAE gRT YR i T vE-aHia §YE T8 € |
3 HEHA W G % grd WIieR TS SR8
22

(a) Ew, fugwr, siEwn, TSUME, AR,

I TeW 3N BTG

g, fagr, sfEmon, oEE, O,

qare 3T ufeem s

(¢) MY YW, 4™, oYM, Beivang, ufsm
s 3 afierrg, Stfeen

JEH, oy wew, ghamm, onfem,
TSR, aftierg 3R I ew

(b)

GV

fafafgs 4 @ S wu, JoEyg IRad
YeiH ¥IHih (CCPD-2023 & ITER H&l
TET 3 ?

(a) WRG ¥ CCPI-2023 ® SR 2 ®Mi H
BAN NS B |

RA % CCPI-2023 A 89 TIM W @1 1
2 |

(0 [, faw # Sy diedd W gaww
JeuH HH T M gie i A T B )
W OgIH® AN W W A A R
I5ee e A fiR @™ R |

(b)

@
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(a) b54°F
(b) 30°F
(0 17°F
(d 44°F
64. Which one among the following sectors in
India consumes the maximum amount of
groundwater ?
(a) Industry
(b)  Agriculture
(¢) Household
(d Mining
65. Who among the following is considered as the
‘Father of Vitamin therapy’ ?
(a) Christiaan Eijkman
(b) Frederick Hopkins
(¢) Casimir Funk
(d) Robert Woodward
KSDG-A-GIP

According to the Big Bang theory of the origin
of the Universe, the age of the Universe is
estimated at about :

(a)
(b)
(c)
(d

0-3 million years

4 — 6 billion years

7 - 10 billion years
13 — 18 billion years

The temperature of a body decreases from
240 K to 210 K. The corresponding change
(without sign) in the temperature in degree
Fahrenbheit is close to :

56.

67.

(17-A)

Trees Outside Forests in India (TOFI)
programme is a five-year joint initiative by the
United States Agency for International
Development (USAID) and the Ministry of
Environment, Forest and Climate Change,
Government of India. Which are the seven

participating states of India in this

programme ?

(a) Assam, Bihar, Haryana, Rajasthan,
Maharashtra, Uttar Pradesh and
Chhattisgarh

(b) Assam, Bihar, Haryana, Rajasthan,
Gujarat, Punjab and West Bengal

(¢) Andhra Pradesh, Punjab, Rajasthan,
Chhattisgarh, West Bengal and Tamil
Nadu, Odisha

(d) Assam, Andhra Pradesh, Haryana,

Odisha, Rajasthan, Tamil Nadu and
Uttar Pradesh

Which of the following statements is not
as per the Climate Change
Performance Index (CCPI)-2023 ?

(a)

correct

India has jumped 2 spots higher in

CCPI-2023.

(b) India is placed at the 8th rank in
CCPI-2023.

(¢) India is amongst the top 5 best
performing countries in the world on
climate change.

(d) India is placed lower in rank in this
index than Norway and United
Kingdom.




58. UNDP ¥ «ifires mifors uree e (et

59.
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Ave G R99) % R M ¥ | T
freafefaa § @ a1 w smm 7@ 22
(a) Tefifas

OBRGED

(c) mﬁﬂi
@ R

wiaq i s ¥ gafta Frafafea s ®

ﬁ?ﬂiﬁlﬁﬂz

1. 9 a9 202122 ¥ T Wl S A0
F 6 v H 7E o

2. YRA TR ¥ "iaW WA g€ FHah @l
argafea fom @

3. A de sha wRaewed & fou womm
Fem ¥g I fo S

4. Y sre frflm R € PR @1 Tt
witEt, wfaefy s @ durefim ik
ey IAehe afEHRl § Few % fig
L

I 4 ¥ foran oA @@ 3 2

(a) 1

b) 2

¢ 3

d 4

fafafgg frer  awiem  (@fie) /awed
(F3hE) § Q B, IH AW WA 4 &
gafem 7 32
(a) UN 2023 afeX HI38 : U
(b) SDGufie 2023 . afymreA, St
(c) TAEHE TeheH . AT

afire 2023
(d) COP28

L g

61.

62.

(18-A)

A B F T N @S ! TN 3: 4% U@
#F R | AW & W F ww, ‘A’ X T 600 AT
fru, s B 3 = 500 Afia e | aufl, fem
AT T 150 99 fpu 3t B’ A T 100 =@
fru | 3Rk R & 3id #, T U@ TUH GO
2, @ goE A % W freht S9 @e H afn
ot 7

(a) T 150

() T 200

(c) <250

(d ¥ 100

TH ANH F 20% A 981 F RO T A
T | A HHE W 50% W W a9 femm |
=Tl 3 o foran @ IR T 2

(a 10%

(b) 30%

(c) 20%

(d) 40%

s At 2 99 6 @iy & forg 5% amumr sa=
W W AGT & | 98 dobiel 39 GAORT H 5%
Thafg AN W 2 9 H AT R IR |
Ife 3 T 2,100 T &N Bar ? A &4 Forah
O &1 wor fore o ?

(a) ¥ 8,00,000

(b) T 4,20,000

(¢) ¥ 1,00,000

(d) ¥ 8,40,000

frafafea § & |*R-d waifs afframfia
uTg @ ?
(a) Na
(b) K
(c) Ca
(d Mg




- 58, UNDPs ‘Gender Social Norms Index’
comprises four dimensions. Which of the
following is not a dimension ?

(a) Political
(b) Educational
(¢) Cultural
(d) Physical
59. Consider the following statements related to
‘Sovereign Green Bonds’ :
1.  Union Budget 2021-22 announced the
issue of these bonds
2. The Government of India has approved
a Sovereign Green Bonds Framework
3.  These bonds are meant to be issued for
mobilizing resources for green projects
4. These bonds are financial instruments
that generate proceeds for investment in
environmentally sustainable and
climate suitable projects
How many of the above statements are
correct ?
(a 1
(b)y 2
(© 3
d 4
60. Which one of the following
Summits/Conferences is not correctly paired
with the place of the summit/conference ?
(a) UN 2023 Water : New York
Conference
(b) SDG Summit 2023 : Washington, DC
(0 Climate Ambition : New York
Summit 2023
(d COP28 : Dubai
KSDG-A-GIP

61.

62.

(19-A)

‘A’ and ‘B’ have pocket money in the ratio of
3 : 4. After the day’s work, ‘A’ earned T 600
while ‘B’ earned ¥ 500. However, ‘A’ spent
¥ 150 and ‘B’ spent ¥ 100 during the day. If
they have equal amount of money at the end of
the day, then the pocket money ‘A’ had in the
morning is :

(a) T150
(b) ¥ 200
(e0 T 250
(d) <T100

A businessman lost 20% of his goods due to
rain. The remaining items were sold at a profit
of 50%. The businessman earned an overall
profit of :

(a) 10%
(b) 30%
() 20%
d) 40%

A man takes a loan at 5% simple interest for a
period of 2 years. He immediately gives this
money on loan at 5% compound interest for
2 years. What is the amount of loan he has
taken if he makes a profit of T 2,100 ?

(a) ¥ 8,00,000
(b) T 4,20,000
() ¥ 1,00,000
(d ¥ 8,40,000

Which one among the following is the most
reactive metal ?

(a) Na
(b) K

(¢) Ca
d Mg



65. frafuflaa i & wqgl # A B wig, vd|6s. XMy Fna frft @a #, X YA T T, -
W TF G A1 S g ? Yk IR 3¢ T 10 ¢4 g | AR 98 Sfaar B, A
I Y A 7 50 il | ik 15 aR @ & ok
(a) W@, ¥h{, 77 X T 450 3Ifg & &, o X Fraft e A & 2
(b) weft, s, uE
. (a) 8
(c) dH, |9, "™
b)) 9
@ <, ieh, T
(¢) 10
@ 12
66. Tr=fufga # @ +-w gm, wwgfy am =1 &
ISR T Bl @ ? 70. 918 =gtw 2 @ld, uig e’ &m ¥ 5 FHiw
@ WRF iR g B m%lﬁﬁﬁﬁmﬁ@(dmmmt)
(b) ﬂgﬁt%@aﬂwﬁw%?@ @  50%
(¢) Ui & 9@ IR g % @ b 60%
(d) =A * AT (Aipper) 3N HeHh F UG ©  40%
@ 45%
67. frafafga 4 ¥ fra @ & fowem w & _ .
e ‘gavitar’ w1 Fiee foem o 2 71. mﬁéaﬁq,a&mmﬁgﬂwﬂ%
@ A (a) o THE
(b) o & (b) iRy
(¢ fTawa da (c) V&M Heunfaeis
@ Ffa® ueH (d) firaE O
72. 39 Q& % AW w1 & A NASA I Siadnren
68. frfifga # ¥ ‘Toaifilt’ g =1 @RaT HH HSAl ) SgHT T A T I ATk TH WO
29 ¥ &9, FaaC 2022 # wafvq 2
(a) fToregw (a) SWOT
g —— (b) A
© (© ::Rést
@ d) TH (SpaceX)
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65. Which one of the following groups of
organisms correctly makes a food chain ?
(a) Grass, Goat, Human
(b) Elephant, Goat, Grass
(¢) Tiger, Snake, Grass
(d) Insect, Frog, Grass
66. Which one of the following pairs correctly
represents an example of analogous organs ?
(a) Forelimb of horse and human arm
(b) Human hands and wings of birds
(c) Wings of birds and wings of insects
(d) Flipper of whale and forelimb of frog
67. Who among the following directed the film
‘Subarnarekha’ made on the partition of
India ?
(a) Satyajit Ray
(b) Mrinal Sen
(¢) Bimal Roy
(d Ritwik Ghatak
68. Who among the following is the author of the
book ‘Rajtarangini’ ?
(a) Bilhana
(b) Kalhana
(c) Banabhatta
(d) Bhavabhuti
KSDG-A-GIP

69.

70.

71.

72.

(21-A)

In a game between X and Y, X has to give
T 10 each time he loses to Y. If he wins, then
he gets T 50 from Y. If they play 15 times and
X earns T 450, how many times does X win ?

(a) 8
(b)) 9
(e 10
@ 12

A man purchases 5 shirts in a ‘buy two, get
five’ scheme. How much discount percentage
did he get ?

(a)
(b)
() 40%
(d)

50%
60%

45%

Who among the following was the winner of
the Booker Prize in the year 2022 ?

(a)
(b)
(¢)  Shehan Karunatilaka
(d

Douglas Stuart

Geetanjali Shree

Amitav Ghosh

What is the name of the vehicle which NASA
launched in November 2022 as part of a plan
to eventually carry humans to the Moon ?

(a)
(b)
(¢) Insight Lander

SWOoT
Artemis

(d) SpaceX



73. S 2023 ®, YR SR A A R faeEe
YR H B HH F I § Arererd AR geR
sifufrm, 1996 # gurl H fawriw w6 & fog
& fadew ¥ o1 e foeen @ | Fafafga d
T % 38 afifa &1 eaw B 2
(a) UGHR WRA 1 HEAEETE!

(b) veurt fafy wfem
() T gdadi fafy afea
(d) T VATHET WA 1 G AL

74. Tfafaa § & fra sa gU wa-sEA W H
e <l ST 7 2
(a) Hiw1 glan &« (BSF)

(b) wRa-fassa € yfere ATBP)
(c) 3THH UTHH
(d) I W1 9 (SSB)

75. G I W g 1 F @y gafm iR R
el % 9 Ru v e & = wEd W
g

gl g
(5T N1 g (HTFTEE)
GEIT7)
A thgenly IR 1. ST agee,
o Hifa
B. @il @pa 2 ;ﬁrﬁ@mgﬁrﬁq,
C. gffa yfigm &g 3. STEUAU WS,
M
D. EMTEeaE #R 4. INS Rawf,
Wil sfewr =g ANEen
Re:
A B C D
(a) 3 2 4 1
b 1 4 2 3
(¢ 3 4 2 1
@ 1 2 4 3
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7.

78.

79.

80.

(22-A)

|7 B

ghuw wive

IEAT (Python) T & ?

(a) I=-T 9T (High-level language)

(b) HISTARUT TSI (Assembly language)

(c) IT W (Machine language)

(d) HAHSI YRWST W1 (Data definition
language)

frafafgs & @ ®aH, SoEm w@ifeafah

(network topology) T 22

(a) €9 (Bus)

(b) G (Star)

(c) ATANE (Mesh)

(d) HH-EX (Peer-to-Peer)

QA S H % (two’s complement form) # —8
it — 2 = fgamur® Iwm (binary addition) @l
afoms &= R 2

(a) 10110

(b) 0110

(c) 1110

(d) o111

frafafgs & @ A, FdAIRE (Pointing
device) TgT 2 ?

(a) TAGHM (Touchscreen)

(b) AT (Trackball)

(¢) Y™ 9@ (Light pen)
(d) HHLIE® (Scanner)

IR (Registers) # fFE ¥R (@U) F
femf (flip flop) 1 TN foFan ST 8 2
(a) DYSR (Ir¥9)

() SR
() TSR (W)

d JK




73. In June 2023, the Government of India set up PART B
an expert panel to recommend reforms in the PROFESSIONAL SKILL
Arbitration and Conciliation Act, 1996 with an
aim to reduce the burden on courts. The

Committee is headed by who among the 76. Pythonisa:

following ? (a) High-level language
(a) The incumbent Attorney General of (b) Assembly language
India (¢) Machine language

(b) The incumbent Law Secretary (@ Data definition language

(¢) A former Law Secretary

(d)  Aretired Chief Justice of India 77. Which one of the following is not a network
topology ?

74. Indo-Bhutan Border is guarded by which one (a) Bus

among the following forces ?

(a) Border Security Force (BSF) ®)  Star
() Mesh

(b) Indo-Tibetan Border Police (ITBP)
(¢) Assam Rifles
(d) Sashastra Seema Bal (SSB)

(d) Peer-to-Peer

78. The result of binary addition of — 8 and — 2 in

76. Match List I with List II and select the correct two’s complement form is :

answer using the code given below the Lists : (a) 10110
List I List IT (b) 0110
(Indian Navy (INS)
Training Institute) () 1110
A Anti-Submarine 1. INS d 0111
Warfare School Venduruthy,
Kochi 79. Which one of the following is not a pointing
B. NBCD School 2. INS Kunjali, device ?
Mumbai (@) Touch
C. Music Training 3. INS Mandovi, 4 fouchscreen
School Goa (b) Trackball
D Provost and 4. INS Shivaji, (c) Light pen
Physical Training Lonavala
School (d) Scanner
Code : . .
80. Which type of flip flops are used in registers ?
A B C D @ Dt
a e
@ 3 2 4 1 . SRyp
®» 1 4 2 3 :
© 3 4 2 1 (©  Ttype
@ 1 2 4 3 @ JK

KSDG-A-GIP (23-A)



81.

82.
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DBMS H# ThrIeld YEY9  (transaction
management) ¥ ACID ﬂ"lﬂ"f (properties)
foraes fote wg ST 2 2

(a) TR, wiqenidl, sngdicNM,
sfaferdt

b AT, FREH, sgERE,
stfeferdt

() Ui, sfRdd, S ESICNC
stfeferdt

@ TS, HRedd, FtRefiad,
sfaferdt

CISF % we@i W fafafgs & @ 9\
sAfefem a7 g @ 2

(a) oo Yfovy sifufrm, 1961

(b) WA §S i, 1860

(© wIgh seE Afufram, 1936

(@ weER fare siftfem, 1988

g el g CISF & fopeft wef fopg
TAGEE H, W HAY Hdsd & (e
a1 VEgES S 2, Frafalad §
¥ S <g 7T e s wem 2

(@) 30T & I F s A
(b) faiw ufEfelr @ sfaa foren s
(¢) W=fd Ut

@ e

84. Fg Ml gean =@ fufem, 1068 #i .

85.

86.

(24-A)

a8 & e few u fordft smew ¥ g
dichl sy 4 =t fepeft weft fopn @ CISF
Hew gl RO A wga @ 6 fafifée
Iafy F R 2

(@) 38 ARV wyfEa fpg IM & alE ¥
| 6 IEfy % fiw

I ey wyfa fhr 9@ & afig | @
g 6 iy & fiw

() 39 R wgfua fhy 9 i arlig & &R
| ) Efy & fiw

30 IRy wgfa frg IR i ale | o7
| 6 aEfa F fiaw

(b)

(d)

Fdg il g s orfufem, 1968 &

Ittt Wl fpe o oWt so1-gee wiiw femEt

(restrictions)% i % | 3 W f=fafga @

Y HiH-1 AN T e R ?

(a) Trdll oqomm@m @9 I 3w w9 & WY
Tt g

() foret TeRfas Tm & TEE B

) Tt 0 daed w1 gel B S aw
F T % 9 § WREEE T4

@) AT FHR H HE TH THIRA FEAT

Fia oiefie gan s oifufm, 1968 H
gm 18 % AN Hdd & R arfasemor
(violation) &1 foreft fem a1 faffmm = forelt
g el g fow e fafged snestt
THEFHR W HET AT I AAGFE U
HT, N Iy e whii F § 2

(a) GIT AR THFA
(b) oTEIT IR A
(c) U AN WA
@) TN IR A



81. ACID properties in transaction management
in DBMS stands for :
(a) Atomicity, Concurrency, Isolation,
Durability
(b) Autonomy, Consistency, Isolation,
Durability
(c) Atomicity, Consistency, Isolation,
Durability
(d) Atomicity, Consistency, Infidelity,
Durability ’
82. Which one of the following Acts shall not
apply to the members of the CISF ?
(a) Dowry Prohibition Act, 1961
(b) Indian Penal Code, 1860
(¢) Payment of Wages Act, 1936
(d) Prevention of Corruption Act, 1988
83. Which one of the following may not be
awarded as punishment by the supervisory
officer to any enrolled member of the CISF
who discharges his duties in a careless or
negligent manner ?
(a) Fine amounting to 30 days pay
(b) Deprivation of special emolument
(c) Withholding of promotion
(d) Censure
KSDG-A-GIP

84‘

(25-A)

What is the prescribed duration for filing a
revision petition by an enrolled member of the
CISF aggrieved by an appellate order against
an order made under Section 8 of the
CISF Act, 1968 ?

(a) Within a period of one month from the
date on which the order is

communicated to him

(b) Within a period of two months from the
date on which the order is

communicated to him

(¢) Within a period of three months from
the date on which the order is

communicated to him
(d) Within a period of six months from the
date on which the order is

communicated to him

All members enrolled with the force under
CISF Act, 1968, are subject to certain
restrictions. Which one of the following does
not apply to them ?

(a) Associate with any trade union or labour

union
(b)

(c) Be a member of any society that is not
recognized as part of the force

Publish a book of scientific character

Be a member of any political association

d

What is the nature of offences such as
violation of duty or wilful breach or neglect of
any rule or regulations or lawful orders of a
supervisory officer under Section 18 of the
CISF Act, 1968 ?

(a)
(b)
(¢) Cognizable and non-bailable
(d)

Cognizable and bailable
Non-cognizable and bailable

Non-cognizable and non-bailable



87. fafafga sl w faur Hifsw ;

1. B 3w At # Frfe $9 % fae co,

T FAT FET F1RY

2. ‘B o™ A A faba w0 % fou ey

Y TETEHT &1 YT R o1 G &

3. ‘B 2y A W e +6@ F e ¥

AfTIHE FH g B &

4. Ut 6 Y9 F FEYHGES T HET
=ifeu wiif% T B Ry AT B wwdt

2
I HoEl § A A ad T2 € 2
Fad 23 3
Fad 13 2
Fat 3 3R 4

I & § FE T

(a)
(b)
(©)
(d)

g7

1. =gFh &l A

2. Fordll 7@ & forR 9@ At 99 W
3. UgH W, 9@l U 51 § T}
H= fow M Fe F W@ W g W gRY
Fad 2R 3

Had 1 3R 2

Faar 13N 3

1,23 3

(a)
(b)
(©
(d
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Tt g@l fem % fou awfaa wm =ha

89.

(26-A)

A[GH F "I, g M TEnEE W -
fruftor foFe smaR @@ fora ST 2 2

1. I feu 9 g ol (wi=iE) A
wehfd 3R 3R

2. wnf 3 s By, R @ e
2

= fow T Fe # @ W g W ghe

(a) a1

(b) A 2

(¢ 13W 23

(@ TM1L,ITE2

e Tva % forg frfofaa & @ frm /e
foreat <Y qd et @ aifRer R 2

1. & & TeHid

2. & I EEA A

3. awarg Rifad &t srafeufd (location)
H= fdu e e 1 @ W ad W g
(a) had 19K 2

(b) haw 23 3

(¢) ad 1

@ 1,233



87. Consider the following statements : 89. The composition, grouping and strength of
1.  CO, should be used to control ‘B’ type escorts is determined on the basis of :

fire 1. Nature and size of the convoy to be

2. Special dry chemicals can be used to escorted

control ‘B’ type fire
2. Nature of route and terrain to be passed

3.  Foam extinguishers are less effective to through

control ‘B’ type fire

. Select the correct answer using the code given
4, Steam of water should be used with

. . below :
caution as it may spread the ‘B’ type fire
Which of the statements given above are not (@ 1only
t ?
eorree (b) 2only

(a) 2and 3only
(¢c) Both1land2
(b) 1and2only

(0 3and4only (d) Neither 1 nor 2

(d) None of the above

90. Prior information on which of the following

issues is/are essential for foot patrolling ?
88. What are the likely places of putting

anti-vehicle mines ? 1 Topography of the area

1. Inrocky areas 2.  Population density of the area

2. On tracks running along a river
3. Location of the terrorist camps
3. On roads, where water has accumulated

. . Select the correct answer using the code given
Select the correct answer using the code given

below :
below :
(@ 2and3only (@) 1and2only
(b) 1and2only (b) 2and3only
(¢) 1land3only (¢) 1only
(d 1,2and3

(d 1,2and3

KSDG-A-GIP (27-A)



92.

93.
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g1l
(AT TT) (é;zﬁ?r.aﬁa?ﬁfm'g(&ﬂ
T (G9E)
e, 1983 &
AR G 96777)
A g mE L 9%
B. guam Al 2. ieds
C. g ganme 3. ¥ HFaTA
D. qftss g ME 4. WEEE FAISE
%2
A B C D
(a) 2 4 3 1
(b) 2 3 4 1
) 1 3 4 2
@ 1 4 3 2

et wdf fpu T CISF o= &1, 51 shi fopedt
THA g TR oEd H g el dw,
1 R A e & et 9fQy = w1 $ea

wfafghe & 3w, sfteedt st sfafgle w2,
F fefie gan s@ e o
renfes guen s Frm % Suewl g i@
am | wfafghe A safy %, Frafafea &
A w1 /AR Frem @w 78 g/ 2
(a) Trm 58, fram 59 3 fram 61

®) Trm 59, fram 613 frm 71

(¢ T 58, fam 59 3 frm 71

(@ Faa w59

(28-A)

94.

95.

%‘

e fufeet damd (arffetor, o oft sdfle) -
framaeht, 1965 & o, Fafafga & @ e
3TTeW % faeg orfiet weqa it S Tehdt ] 2
(@) FrEm 11 % afl aftRifte frdt i &
gfg #0 e | Iy

Tsgufa g foman TN ig STieW

frm 14 & ofin a9 % dww S
iR grr e e T i STt
Jqddl YR T HI§ S AT IJIAEHS
FRAE & Afaq Fuer & gg@s Heu &
WEY F e, St el ey & fm &

31?;3 (fences) % &R W fafafga & @

P /PR T T 2/E 2

1. 1S gean i vge ufts &

2. dwIg <t (fence posts) I FH-Y-H
30 $ie ¥ gt W wenrfim form st =TfRe

3. g % Afafe v % &9 Wl A
AU U2 (anti-climb paints)
T feman ST =R

(a) had 13 3

(b) HadA 23R 3

(¢) wHad 1

@ 1,23K3

e % e fefafae 8 @ SRaE/a88
Tatfter yfes 2/2 2

1. CCTV

2. HH

3. W HA

1 fw T e w1 v R wE I g
(a) et 13 2

(b) Has 23N 3

() 1,23 3

(d wHad 1

(b)
(c)

(d)




91.

92.

93.

KSDG-A-GIP

Match List I with List IT and select the correct
answer using the code given below the Lists :

List1 ListII

(Old designation) (Revised
designation
As per CISF
(Amendment) Act,
1983)

Naik
Constable
Head Constable

A. Security Guard

=

=
N

Security Officer

C. Head Security 3.
Guard

D Senior Security 4.
Guard

Code:

Assistant
Commandant

(a)
(b)
(c)
(d)

H o= NN B
B» W W o
(I N N e

D
1
1
2
2

The confinement of any enrolled member of
the CISF within the precinct of any barrack,
lines or camp for the time being occupied by
any detachment of the force is called :

(a) Arrest

(b) Open Arrest

(¢) Close Arrest

(d) Wrongful Confinement

During the deputation, the officer
deputation shall be governed by the provisions
of the CISF Act and CISF Rules. Which of the
following rule(s) shall not apply during the
period of deputation ?

(a) Rule 58, Rule 59 and Rule 61
(b) Rule 59, Rule 61 and Rule 71
(¢) Rule 58, Rule 59 and Rule 71
(d) Rule 59 only

on

94.

95.

(29-A)

Under the CCS (CCA) Rules, 1965, an appeal
can be filed against which one of the following
orders ?

(a) An order enhancing any penalty
imposed under Rule 11

(b) Any order made by the President

(c) Any order passed by an inquiring
authority in the course of an inquiry

under Rule 14

(d) Any order of an interlocutory nature or

of the nature of a step-in-aid of the final
disposal of a disciplinary proceeding,
other than an order of suspension

Which of the following statements about
fences is/are correct ?

1. Fences are the first line of protection

2, Fence posts should be placed at least
30 feet apart

3.  Anti-climb paints should be used in
fences as an additional measure of
security

Select the correct answer using the code given
below :

(a)
(b)
(©
(d)

1 and 3 only
2 and 3 only
1 only
1,2and 3

Which of the following is/are most relevant for
surveillance ?

1. CCTV
2, Key control
3. Access control

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1,2and 3

1 only



o7, Praffaa ¥ ¥ fom gl & A @ aw

98.

99.
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far@ (LTC) %1 3w 7T foran s weha B 2
forg Gawer g

e g2

ATHCH FaI

ard 3w g

(a)
(b)
(c)

(d)

M (Dog) g Adaradt 3 R war @R
aeed & fou fefafga & @ S8 =
forvaefia & 2

1. 3 WF H gug § geer i draa
2. 79 &I |IEAT (concentration of scent)
3. el o e

4. VAR $) WEAA (fitness) hi feufa

H few T e w1 I W W IR g
Fad 1,23 4

Had 2,3 4

Faet 191 3

1,2,33M 4

(a)
(b)
(c)

(d)

g fufae dand wg F o Fdw ffaw wg
Ty ‘% W ot fgfwat feas gra it i 2

A, TU A Fa1 AR

WA T ST

A T TSgafd

g # ga fore faffdee sfererd

(a)
(b)
(c)

(d)

(30

~A)

101.

102.

100, Freft < A, de, AT @ At gW

it =g W % fou s 3 fafifde
27

(@) on ¥ ¥ foreft wifa & s +1, S
arafts i o a6 hi gnft

21 & ¥ fre wifs & s #1, Sah
iy giw a9 o H Bt

a4t § ¥ et wifa & sram #1, St
arafy g ad a= & anft

AShE FREE @ a1 &A1 # @ frdft wifa
% wUEm @, Feehl ety @ af o R
B gt it quix @ oft <efim Am

(b)
(c)

(d

‘A’ Ueh o4& SRR T Alh-ITUshR! gRI T 77T
uftfg # T W R, M W TH TS IH %
S fom a1 2, Fms sru a8 fug 3m S
1 s & 2 @ e forg @ =i i
fore e o | A’ FfiRaa | @ TR SweEy &
el 319y w1 At B 2

(a) WRAT <8 Gfgar <t um 432

(b) WA g Tfgan i 9/ 433

(c) VR 58 wfgan it 9w 434

(d) g < afgar i arT 435

A Stz fm R, 7 B gufefa W 2 %
e # e @ it 7 Y aAfers wfa
¥F fo s g Fad TG & faw ot amw
FHF AT YA AT ] | A FIE mm e
5 2 A g IEm d an & fe | 22 f
fyafia awifa wm & 1 A’ Fafafae & | fea
T 1 QU q 2

(a) A W
(by =

(0w g
(d) I A9y TE



97.

LTC cannot be availed during :
(a) Child care leave
(b) Earned leave
(c) Casual leave
(d) Half pay leave
98. Which of the following factors are responsible
for the success of warning and detection by a
dog ?
1.  Ability of the Handler to read his dog
2.  Concentration of scent
3.  Density of vegetation
4.  Condition of fitness of the dog
Select the correct answer using the code given
below :
(a) 1,2and4only
(b) 2,3 and 4 only
(c) 1land3only
d 1,2,3and4
99. All appointments to Central Civil Services
Group ‘A’ and Central Civil Posts Group ‘A
shall be made by ;
(a) Chairman, UPSC
(b) The Prime Minister of India
(c) The President of India
(d) Authorities specified in this behalf in
the Schedule
KSDG-A-GIP

a~

100.

101.

102,

(31-A)

What is the punishment prescribed for
criminal breach of trust by a public servant,
banker, merchant or agent ?

(a) Imprisonment of either description for a

term up to three years

(b) Imprisonment of either description for a

term up to five years

(¢) Imprisonment of either description for a

term up to seven years

(d) Imprisonment for life or imprisonment
of either description for a term which
may extend up to ten years, and shall

also be liable to fine

‘A’ removes a landmark fixed by a public
authority on a busy intersection, and hides
that behind a large tree, due to which it is no
longer visible to the public for whom it was
put on display. ‘A’ is guilty of an offence under
which one among the following provisions ?

(a) Section 432 IPC
(b) Section 433 IPC
(c) Section 434 IPC
(d) Section 435 IPC

‘A’ being on friendly terms with ‘2’ goes into
Z’s library in ‘Z’s absence and takes away a
book without ‘Z’s express consent for the
purpose of merely reading it and with the
intention of returning it. ‘A’ was under the
impression that he had ‘Z’s implied consent to
use ‘Z’s book. ‘A’ shall be held guilty of which
one of the following offences ?

(a)
(b)
(c)
(d)

Breach of trust
Theft
Misappropriation of property

No offence



103.

104.

1065.
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freafifgs & @ w9, S & WOy W
Ffvar ues 77T 2 2

(a) A @

(b) SEA T T

(c) Tt =afer =t geg a1 uR SuEfd & W 8
I

(d) ™ gufa

sadsa w9 @ fammueel i ganm e
(security audit) S\H-HT TS HLaT & ?

(a) BCAS

(b) ICAO

(¢) ACI

(d) IATA

R iR % oy et shenfies 31§ ® CISF

T I % IgE F €9 § FHEE@ § | A

e srs % veu-fRYE & AU & g

Fra st ? | oy Pefafge ¥ @ SR

FHiiar w4 ?

1. 3Fy=Iie @dl ¥ HeAw @ SYgRhate
} G9$ HA H T HE

2. vyaufRws ®I @ wgEnd % a8 fodt
ot feufa & gfeda 7 =t

3 @R ®R w wW@E T W, g
ETHALAT ! F1d-<Nd | IAHC T

4, T AT AW 9 T Y AUBIHArAl
I THIT GHA & A’ I W HAd Tt
HHhd &

2 Ru q Fe 1w W g I g
(a) had 1,23 4

(b) had 1,231 3

(¢) haw 33 4

@ 1,2,33K4

(32-A)

1w.m5ﬂﬁqﬁsmﬁ:€ﬁﬁmﬁgm.

T % 7E & ot a8l w fomm 1 SR @
I ® | fEE-suEtrRdll @ q@-<fld
auE, AN HH-H gEmtEt s 2

1. 3IgM HHicd F IFI B I B,
Hife & T e fufadt @ fue &
fore sl @ &

2. Freh oft oftfeufar o famm-staeturratent i
T IHETE

3. fwm-sgmsatell | war <t fF om
e §

4. fmmA-sgwesdisl f it @ i@ &
e

9 fow T He w1 I W g W g

(a) ael 1,23 4

(b) aer 1,33 4

© 1,2,33M4

(d) *aw 23R 3

107. frafefga # @ w91 wfea/mfc

22 2
1. Jaa-gfg IHN

2. =l WA % @Y R Y W ufdga
T e g W @ & e saf %
foru 3a7 & wng oW ° foedt Frerae weRw
(lower stage) o U Tspu <l reAfa

3. Wafd I

4. Efa @ Yafef ge9d yEaE *
FgER A e

9 fow T Fe w1 T W EE W g

(a) *ad 1

(b) Had 13 3

(¢) haw 23R 4

@ I | wiE T



103.

104.

105.

(a) 1,2and4only

(b) 1,2and 3 only

(¢) 3and4only

(d 1,2,3and4
KSDG-A-G.IP

Which one of the following is not an essential
ingredient of the offence of theft ?

(a) Taking

(b) Dishonest intention

(¢c) Putting a person in fear of death or
grievous hurt

(d) Moveable property

Which organization carries out Security Audit

of Airports internationally ?
(a) BCAS

(b) ICAO

() ACI

(d IATA

Suppose you are working as the head of the
CISF security unit of an industrial unit. You
are supposed to act against the kidnapping of
the Managing Director of the industrial unit.
Which of the following will be done by you ?

1.  Try to make contact with the kidnappers
through informal sources

2. Convey message to the Managing
Director that he should not resist at any
cost

3. Do not try to be heroic, rather engage
the kidnappers in negotiations

4. Always assume that you can reason out
with kidnappers and win them over

Select the correct answer using the code given
below :

106.

107.

(33-A)

Suppose you are the head of the security unit

of an airport and an aeroplane has been

hijacked there. While dealing with the

hijackers, what precautions will be taken by

you ?

1.  Follow the instructions of the flight
crew, as they are trained to deal with
such contingencies

2. Do not provoke the hijackers in any
circumstances

3. Convey to the hijackers that you are a
Sky Marshal

4. Do not make eye contact with the
hijackers

Select the correct answer using the code given
below :

(a) 1,2and4only
(b) 1,3 and4only
(¢ 1,2,3and4
(d) 2and3only

Which of the following is/are minor penalties ?
1.  Withholding of increment of pay

2. Reduction to a lower stage in the time
scale of pay by one stage, for a period
not exceeding 3 years with cumulative
effect and adversely affecting pension

Withholding of promotion

Compulsory retirement in accordance
with the provisions relating to
superannuation or retirement

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 only

1 and 3 only

2 and 4 only
None of the above
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108. Hhgl Nenfies e s« fufem & w&y #

fffga & @ S/ H98 FoF wd 8/8 2

1. ¥S S I AR ]

2. Syl s afteerd 3

3. gl hafie gean wa rfufam & a3
Iem 1 ARy T foram e R

4. wEiews 6t Tghn S sienfies gean
wa fufm i a4 % 1efia h I @

= feu T Fe w1 FE =W ad W g
(a) had 23R 3

(b) aE 13 4

(0 Faa 3N 4

@ a1

109. F=fafaa @ & w-a1/+-8 w7 9d 3/8 2

1. e N ganm s w1 wEfews
Fad FHES IH dP e I JeH W
Tehal 8

2. Hewm Nuifis g s@ # "EfREw
A% & TeF w0 H ufe gafa
&1 o Gkl

3. Jftedl, @ e I fear mn 3, 98
3 i Ja7 3R W F Y goer
& g

= feu T Fe w1 FE = ad W g
(@) 1,233

(b) HAA2IR 3

(c) Had 3

d) a2

110. T AFE ARHR A= & 1eaq 6t Fghe .

G & Tsgufd grn w afify A fawrfet &
YR R &t it g 1| Fafafiga & @ <99 @

. affa H sreaegar v @ 2

111.

112,

(34-A)

(a) WA T gaFwEh

(b) & WAl 1 R wgeh
(c) i awl ® fouy 1 Aar

(@ faftr o = &1 R "nges o

e AfteeR e erfufem, 1993 ©
frafafgs d @ foma foeml & @9 & fou
U fomm T @ 2

1. TS O AR A

2. TS qFd ARHR AT

3. UM SR Aferrtor

4. THa ARHR =R

= fEu MU e 1 W W T W ghe
(@ 1,2 33M4

(b) a2 3R 3

(¢) Had1,33M 4

(d Had1,23 4

T AW AT W, FHH G HE H Ae A

frafafea & @ sRw/eRa o Wi

HET/H ML ?

1. Tl ofk vwi it farga omqfd sig e

2. fastral @ (0 & @@ i fafa =t
BIgH)

3. dTedl $l &g HE

4. 92 IR uRdl & i e

#= feu 7T Fe w1 yET W g W g

(a) Had 13 3

(b) Hae3

(c) ad 3N 4

@ 1,234



* 108. Which of the following statements with regard
to CISF Act is/are correct ?

1.  Head Constable is an under officer

2 Sub-inspector is a supervisory officer

3.  Joint venture is not defined in CISF Act

4 Director General is appointed under
Section 4 of the CISF Act

Select the correct answer using the code given

below :

(a) 2and 3only

(b) 1and4only

(¢) 3and4only

(d 1lonly

109. Which of the following statements is/are
correct ?

1.  The Director General of the CISF can
confer local rank up to the rank of
Commandant only

2.  The Director General of the CISF cannot
delegate the power of conferring local
ranks

3.  The officer who has been granted a local
rank shall not be entitled to any extra
pay and allowances

Select the correct answer using the code given

below :

(a) 1,2and 3

(b) 2and 3 only

(c) 3only

(d) 2only

KSDG-A-GIP

110.

111.

112.

(35-A)

The Chairperson of National Human Rights
Commission is appointed by the President of
India on the basis of recommendations of a
Committee. Who among the following heads
the Committee ?

(a) The Prime Minister of India

(b) The Minister in charge of Home Affairs

() The Leader of the Opposition in Lok

Sabha

(d) The Minister in charge of Law and
Justice

The Protection of Human Rights Act, 1993

provides for the constitution of which of the
following bodies ?

1. National Human Rights Commission
2.  State Human Rights Commission

3. Human Rights Tribunal

4. Human Rights Court

Select the correct answer using the code given
below :

(a) 1,2,3and4
(b) 2and3only
(¢) 1,3 and 4 only
(d 1,2and4only

In the basic emergency plan, which of the
following steps must be included in a
shutdown procedure ?

1. Shutting off power to machines and fans

2. Opening windows (except in case of
bomb threats)

3.  Closing valves
4.  Unplugging vents and pipes

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 and 3 only
3 only

3 and 4 only
1,2and 4



113.

114.

115.

g fugrl # a7 Frafafes 4 @+
g2

1. f&mseTa (Denial)

2. T&&¥H (Detection)

3. &% (Deterrence)

4. f&&aM (Destruction)

Hia feu e e 1 W = I A
(@) 1,23 4

(b) 2,3 4

() 1,233

@ 1,334

a1 fd (Magnitude) Y foFae grT ATad
g2

(a) Reeurd
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(© ‘Eﬁqa'@ I3

(@ Tt
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1. e ® e feu fomm w1 fea
9. aTEd HHISU < dId 3R FHA

9 fu e e 1 W =G IH AT
(a) $ad1

(b) a2

(© 1323

@ Fd@r1, 382
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116. frafafga & & fFe suR W wEfRYs g -
FHYH s e 7@ H it 2

(a) Tplaeh AMugral ¥ e HE

(b) EH ¥ o gAY aTed AeH 3R 3T
frenie

(c) UgE ¥ a% ® Qa1 F w@eo IR I
et

(@) AU TR GA-FG A Iepe Tl

117. FrefaRaa § @ SHA1/®H8 FH a@ 2/8 2

1. e ohedfies swrn & =il o afta
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1 a1 @ § HgEal B 8
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FHaEl # & e &
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(@ dA@1, T8 2

—-A)



113. Which of the following are the three ‘D’s in the | 11¢.
Principles of Security ?

1 Denial

2 Detection
3. Deterrence
4 Destruction

Select the correct answer using the code given

below :

(@) 1,2and 4
(b) 2,3and4
() 1,2and3
(d 1,3and4

114. The magnitude of an earthquake is measured

by :
(a) Tiltmeter
(b) Richter scale 117.

(¢) Seismograph
(d) Seismometer

115. Briefing by the convoy commander before
moving off must be detailed and explicit. The
briefing should include :

1.  Distribution of weapons irrespective of
training
2. Appointment and duties of vehicle

commanders

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(¢} Bothland2
(d) Neither 1 nor 2

KSDG-A-GIP (37-A)

Commendation Discs cannot be awarded by
Director General on which one of the following

grounds ?

(a) Commendable work during natural

calamities

(b)  Accident-free driving and good record for

ten years

(¢c) Clean and good record of service for

fifteen years

(d) Outstanding achievement in sports at

international level

Which of the following statements is/are

correct ?

1. Employees of an industrial undertaking
can be granted monetary reward if they

help to detect serious crime

2. Monetary reward is admissible to

non-gazetted Government servants only

Select the correct answer using the code given

below :
(a) 1lonly
(b) 2only

(c) Bothland?2

(d) Neither 1 nor 2
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119.
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fafafed § ¥ Sa/aHA wu wd B/8 2

1. o afie gwn s@ F wHaEs
Al Hfw fafae dand  (afieo,
frmor wa o) Fawmael, 1965 g
wifta 8 &

2. HhF M Fam s@ & wdl fhy g
el W H TR & ged Fam
Y | 0 T A 7

99 feu MU e 1 wET W aE W g

(a)

(b)

(©

@ JIA1L, A2

aggfya wifd ok gfea Sl (SR
frarw) arfufem, 1980 & o\, few T
YUY 1 HA9Y f=fafga § @ A = gehat
27

(a) 1% gferm AR, St SP % & & f@
AR

%13 gferm Afterdt, St DSP & & @ MR
w®ATE

%13 gfera Afteprl, St SHO & & & =
H AT

w13 gfem sirerd, S Pl (FER)
EXcX iRk i

(b)
(c)

(d)

g wifd ot oy Sl (SR
framwo) sifufam, 1989 # 2018 % @A gM
HA-1 T IYSY AT TR ?

(a) €W 14
(b) €W 16

(c) 9/ 15%
(d) HUN 18%

(38 -

121.

122,

X-BISH, TIP® &1 a9 & ?

(a) WU 989 UGFAT (Threat Identification
Procedure)

(b) A N BfT H YWY (Threat Image
Projection)

(¢) vliftra 3t uga fhu T ke (Tested
and Identified Packet)

(@ 9hEur YgYM WE (Test Identification
Parade)

e e 3 et , v Al 6 e frm
goft F o B 2

(a) Toopies

(b) <qIE% (Incendiary)

(c) WA e

@ @REr

123. Ffafea § @ Sw/a0-2 wd &/3 2

124.

A)

1. AK47 U5%d #, g9 7-62 mm Te-Tern
(ammunition) ST 39FT Hd &

2. INSAS Us%d #H, 556 mm Teil-men
(ammunition) T 394 TR ST 8

3. INSAS Us%d, AK-47 U6 ¥ BI gt
2

4. AK-47 U3%c1, INSAS U561 & il Befi ?

= foew T Fe 1 vEE W /h W gAY
(a) HaA1

(b) haer 132

(¢) %ad3

(d) Had 234

CCTV it & dad #, frfafaa # & s

w TS 7T 2 ?

(a) WifE = T fa=ama ¥ w@r S =@nfRe

(b) W *1 BhF FW A AR Tq 1 MR
aqifr FI0 TehTel F qUEd J =61 S b

(¢) afe &9a & at AT % fadie (stacking)
A

(@ GhH! B Had i feafa & gaR ahama
|G 30 §U T RN | T AHT 91MRY



118. Which of the following statements is/are

119.

120.

KSDG-A-GIP

correct ?

1.  Supervisory officers of the CISF are
governed by CCS (CCA) Rules, 1965

2. Leave rules of the Central Government
are not fully applicable to the enrolled
members of the CISF

Select the correct answer using the code given
below :

(a)
(b)
(©
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Who among the following can investigate an
offence, committed under the Scheduled
Castes and Scheduled Tribes (Prevention of
Atrocities) Act, 1989 ?

(a) A police officer not below the rank of SP

(b) A police officer not below the rank of
DSP

A police officer not below the rank of
SHO

A police officer not below the rank of
Inspector

(c

(d

Which new provision has been added to the
Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 vide its
2018 amendment ?

(a)
(b)
(c)
d

Section 14A
Section 15

Section 15A
Section 18A

121.

122,

123.

124.

(39-A)

In X-BIS, what is meant by TIP ?

(a) Threat Identification Procedure
(b) Threat Image Projection

(¢) Tested and Identified Packet
(d) Test Identification Parade

In the context of Aviation Security, a
matchbox comes under the category of :

(a)
(b)
(©
(d)

Explosive
Incendiary
Dangerous substance

Weapon

Which of the following statements is/are
correct ?

1. In AK-47 Rifle,
ammunition

2. INSAS Rifles
5:56 mm

3. INSAS Rifle is shorter than AK-47 Rifle
4. AK-47 Rifle is heavier than INSAS Rifle

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

we use 762 mm

use ammunition of

1 only
1 and 2 only
3 only
2 and 4 only

With regard to CCTV monitor, which one of
the following statements is not correct ?

(a) Monitor should be placed in a curved

configuration

The monitor screen should be tilted
upward to avoid reflection of overhead
lighting

(b)

() If possible, stacking of monitors should

be avoided

(d) Screens should be placed in a sequence,
providing logical continuity with

relation to location of cameras
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VIP §iaT ¥, gfa 7T (counter surveillance)

I=id wewE it @ | ufd et % R
frafafea § & SF.a1/wR-3 afad 3/ 2

1. TR S & yaE w, it fm afa i
A

9. Tt wam § st 3fit erepema & I

3. o 9 frg & aif I8 @ w1 = f6
T IS TW IS &

Hrar U T e H T HHE IR YT

(a) Had1

(b) 1,23R3

(c) Ha@ 23 3

(d) ae 13 3

et geftra it gm A womeht w2, R
i fe (Digital Signature) gR@ FA
% form w umAe Fft (Private key) 3R
@RwtE s ® goig F0@ % e @
A o (Public key) ¥ & 2

(a) rmfia g ored!

(b) gifeaa vt

(c) wufda TG yorredt

@) T fuges HL

ad 2015 &, WRA & I=Ian THEEHE I I W
fefiehr fufem, 2000 Hi 97T 66%F H T
smaviE a9 ot wia ¥ wfvm % g
19(1)(F) ¥ fserw F Hrwr ger foar o |
5y e ¥ =AW e 4 98 Yoetees
frofa fem an 2

(@) YRR &g Tmi s9m giEmon s

(b) TR T T

© F fua sam yRa |99

@) YEM et T afreHrg T

(40-A)

128. vA-uA Frarw sfifEm, 2002 % A w1

Tifteeret a1 it A 3@ Afufem & o=

wRRE 1 T W g, RO H AGEG Y

o, dn = % e aarh d@ @ @ 98 T

3 @ a9 B 2

(a) 3 99 9% % HREE ¥ AT T 50,000
% % A A AYat qHI |

() 2 99 I% % HLEE & A T 50,000
% S AN F 3T QA @

(© 194 d% % HE™ & ¥4a T 50,000
% % AN A 1 QA A

(d) 6 HIE d% & SE™ ¥ 3FEr T 10,000

% F A ¥ YT G @

. yweER fane sfufam, 1988 % i g

=i g Rewef awet d3, swa:
fafta gty fee R, R o fasmo g
T forn s =ty 2
(a) Fo Toramra 2 9
(b) Fo fraTe 3
(© P oot 4
@) o femw 5ad

. s g8 ufar, 1860 % Fr=ffga vyl &

T #§ A B agg, fewm e Raw
Fffaw 1 Mur R 2

(a) YR 589 URT 62

(b) T 161 ¥ U 165%

(c) YR 216@ ¥ °W 226

(d) U 478, 480, 490 AR 492

. TNT % day & fy=fafea & @ sR-ar s

udt 77T 22

(a) TNT & A AR &

(b) I8 B HId (creamy yellow) TT &I BT 8

(0 U TF 39 FH oA AN &

@) 3@ w7 digar &1 RAEees ugred 7 S
3



125.

126.

127.

Haryana
(b) Shankar v. State
(¢)  Shreya Singhal v. Union of India
(d) Suhas Katti v. State of Tamil Nadu
KSDG-A-GIP

In VIP security, counter surveillance is very
important. Which of the following is/are
essential for counter surveillance ?

1.  Try speeding up, and then slow down

2.  Walk into a building and stop abruptly

3.  Drop something to see if someone picks
it up

Select the correct answer using the code given

below :

(a)

(b)

(c)

d)

1 only
1,2and 3

2 and 3 only
1 and 3 only

What is a system of a secure key pair
consisting of a private key for creating a
digital signature and a public key to verify the
digital signature, known as :

(a) Asymmetric crypto system
(b) Secure system

(¢) Symmetric crypto system
(d) Digital signature certificate

In 2015, the Supreme Court of India struck
down Section 66A of the Information and
Technology Act, 2000 being
unconstitutional and violative of Article
19(1)(a) of the Constitution of India. In which
case did the Supreme Court deliver this
landmark judgment ?

(a) Shamsher Singh Verma v. State of

as

128.

129.

130.

131.

(41-A)

Under the Prevention of Money-Laundering
Act, 2002, any authority or officer, who
without reasons recorded in writing, conducts
vexatious search by exercising powers under
the Act is liable for punishment of :

(a) Imprisonment up to 3 years or fine up to

T 50,000 or both

(b) Imprisonment up to 2 years or fine up to

T 50,000 or both
(0

Imprisonment up to 1 year or fine up to
Z 50,000 or both

(d) Imprisonment up to 6 months or fine up

to T 10,000 or both

In cases triable by special judges under the
Prevention of Corruption Act, 1988, what is
ordinarily the prescribed time period during
which the trial should be concluded ?

(a) 2yearsin aggregate
(b) 3 yearsin aggregate
(c) 4 yearsin aggregate
(d 5 years in aggregate

Which of the following groups of provisions of
the Indian Penal Code, 1860 form the basis for
the present Prevention of Corruption Act ?

(a) Section 58 to Section 62

(b)  Section 161 to Section 165A
(c) Section 216B to Section 226
(d) Section 478, 480, 490 and 492

Which one of the following statements with
regard to TNT is not correct ?

(a)
(b)
()
(d)

TNT stands for trinitrotoluene
It is of creamy yellow colour
It is a solid organic nitrogen compound

It is considered to be a low intensity
explosive substance
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&2
1w R faopies feama =1 afeg F0
¥F fu sravas aw- fem B 8

2. @ g YR & W & — Ha-Haw
(time delay), Wi frm (physical
action), 3R wafawo (environment)

3. THmEte Ufhw, wa-facde w@ & IO
3T §

9 fow T e W T W ag W g

(@) 1,233

(b) had 13K 2

(c) W23 3

(d HIA1W3

Jdware yWifad & § ‘ge® AW (Road
Block) e iran @ | 3o ffafiaa o @ frg
fugia/fe Rigidl =1 sguew TR S
=ifaw 2

1. 3EQ AGHANEH H! 9@ el # Hfg
B Tt B

2. UgH & g1 H @A W W IHT =91RY

3. @ GO0 & IJUR FSH G0 H
fore sififent it At it Sme

4. GYfaq GeR-oqaed wefyd Y W, S
Tt fispean il & g g3 @

9 o MU g F T W wE IW AT
(a) FaA1

(b) had 2 3R 4

(© 1,233

) e 133

(42-A)

134. IR +E VIP & Aee # 380 B, @ AUR

S we Bl foh
1. AT e vty § |

2. W 9/ (FHRORT) Hie i SHEE hH
ik

3. QIREH % UM TeIEH TWE ST R Y
9 € |

I FE § § DA/ T /R
(a) %ad 131 3

(b) ae 23N 3

(c) Had2

d) WHaa13i 2

135. Frfafea # @ frg ame d S=qH R |

e feu 5 Fa wadbar s ®t HIE gl
e foman s =i 2

(a) Tfd TRV @ A=Y 99 WRd 9 W@
I

(b) WA Hiw (Wb WEFa qEEd) a9

R4 99
(c) U BR fiandud =W Wa §Y @ 3

(d) W HAR T T



182. Which of the following statements with regard
to fuses are correct ?
1. Fuses are simple switches required to
activate an explosive device
2. The three main types of fuses are time
delay, physical action, and environment
3. Good example of time delay fuses are
chemical pencils
Select the correct answer using the code given
below :
(@) 1,2and3
(b) 1and2only
(¢) 2and3only
(d) 1andS3only
133. ‘Road Block’ is done in terrorist affected areas.
Which of the following principles should be
followed in it ?
1. It should make it difficult for the
terrorists to turn back
2. Adequate troops should be kept in the
open
3. Manning of road block should be done as
per traffic movement
4.  Proper communication be set up, audible
to all nearby personnel
Select the correct answer using the code given
below :
(a) 1only
(b) 2and 4 only
(¢ 1,2and3
(d) 1and3only
KSDG-A-GIP

134.

136.

(43-A)

If a VIP is staying in a hotel, you should check
that :

1. emergency exits are available.

2.  incoming calls are screened.

3. valuables are deposited with the
bodyguards.

Which of the statements given above is/are

correct ?

(a) 1and3only
(b) 2and 3 only
(¢c) 2only

(d) 1and2only

In which one of the following cases did the
Supreme Court give directions that statutory
status should be conferred upon the Central
Vigilance Commission ?

Vineet Narain & Others v. Union of
India & Another

(a)

(b) Common Cause (A Regd. Society) v.

Union of India

Centre for PIL v. Union of India &
Others

(c)

(d) Pravin Kumar v. The State



136. FaTh ufysy fAfy ok wehiol swey siffaam,

137.

1952 ¥ o9 wIE HHAW S U @hW W
ew 3, AAfvafiar i amg g fhar gan q@
wg wum, 99 W wHan fefafee § @
foraeft 3Ty wTw R @m ?

(a) 5594
(b) 58T
() 60da¥
@ 629

i ufyss ffy ot wehiol sy srfferm,
1952 ¥ o, Yy whw 6t fET F 1=
Ferava-shy Yvm A wfe & seft | S
ffy 6t v ¥ Fro Efafaa § @ eRE
whw guE | St ?

(a) HHAR SIF W

(b) e g gag Stw whw
() T U whiH

@ 39w | @ Y T

138. Fu ufss fify =fw $ ola 8

139.
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st Rrdt off T, e & uiafaa fomdlt
# IR ¥ Froww & e, swk gro TRa e
M amw N fFE om@fy % i ol =
ThaT & 2

(@) R IRy A ad@ ¥ & ad

(b) U IRW N ar@ A v T

() 3 ey Y arli@ | §

(@ o AR H aii@ ¥ & I

PrafRes § @ 91, hafie fyag sfufem,
1947 % anefia Frges /o we Wittt 727 2 2
(a) §A§ Al

ORI SIS

(c) tﬁﬂ?;l’(
@ = afufa

(44-A)

140. Frsare fp S aTer U™ B 91 FEd 8 ?

(a) W (E4)
(b) WewR

€ T (FR)

@ TS (I9)

. frafafigs #§ & |, 9g-39dE Feed o

(multi-user operating system) T 22

(a) UNKX

(b) Windows XP
(¢) MS-DOS

(d Windows 2000

. Frafefea & @ -1, g9 WTeEH 1 gaan

A R 2

(a) WY Hae (Coaxial cables)

(b) SAEfdd-W FA (Twisted-pair cables)
(c) HAGH foTi (Infrared rays)

(d) eI BIgR (Optical fibers)

. frafafea # @ frm Nawta & swm fed

IP 99 (address) % &7d MAC 99 (address) %
it & forg foram St 2 2

(a) ARP

b) IP

(¢) ICMP

d FTP

144. W&g 3R I & Frafafea § @ w9 3w @@

gifa 78 ¢ 2

(a) aEE : fedt Few wm & s
w9 ¥ 5 e feam s

b wFHEd : wW A § R e R
STEEAAT, JATAAT, THR

) fide : freew sfie & Tdliemr 3
I ¥ gRumrEEy wHGR H T H
oy

@ & : frd P = T 3us T
I &1 R &9 @ 58 fR S



*186. Under the Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952, an
employee who is the member of Pension
Scheme is said to reach the age of
superannuation when such employee attains
the age of :

(a) 55 years
(b) 58 years
(¢) 60years
(d) 62years

137. After framing of the Pension Scheme under
the Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952, a pension
fund shall be established as soon as possible.
The establishment of the Pension Fund shall
lead to cessation of which of the following ?
(a) Employees’ Pension Scheme
(b) Employees’ Deposit Linked Insurance

Scheme

(¢) Family Pension Scheme
(d) None of the above

138. A Tribunal under Employees’ Provident Funds
Scheme may, at any time, with a view to
rectifying any mistake apparent from the
record, amend any order passed by it, within a
period of :
(a) three years from the date of its order
(b) five years from the date of its order
(¢) two years from the date of its order
(d) one year from the date of its order

139. Which one of the following is no# an authority
appointed/constituted under the Industrial
Disputes Act, 1947 ?
(a) Conciliation Officer
(b) Board of Conciliation
(¢) Registrar
(d) Works Committee

KSDG-A-GIP

140.

141.

142.

143.

144.

(45-A)

Program in execution is called a :
(a)
(b)
(c)
(d)

Process

Product

Code

Page

Which one of the following is not a multi-user
operating system ?

(a) UNKX

(b) Windows XP

(¢0 MS-DOS

(d) Windows 2000

Which one among the fol'owing is the fastest
mode of transmission media ?

(a)
(b)
(c)
(d)

Coaxial cables
Twisted-pair cables
Infrared rays
Optical fibers

Which one of the following protocols is used for
determining the MAC address corresponding
to an IP address ?

(a)
(b)
(c)

(d FTP

Which one of the following pairs of term and
meaning is not correctly matched ?

(a) Lockout : Temporary closing of a place of

employment

Lay off : Failure, inability, refusal of
employer to give employment

(b)

(¢) Suspension : Termination of service of
workman as a result of non-renewal of

contract of employment
(d

Closure : Permanent closing down of a
place of employment or part thereof
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145. FHER gRe sifufam, 1923 % d9gd <hdERP

wieg 3 s Wiy @ 2 2
(a) Tt arEm &1 S I FHHigA H I
B

) et der a9 & G99 § SRS, dOW,
Fohie & &9 # 9l foran e =afh

(c) UYE g % geE i BRma ¥ HrRE w3
=fh ,

@ o @ =i S et ot g fadw |
FW 0 % for welf feram e @

146. << ufFaT d@fadr, 1973 H arT 94 & efA, yaw

Tt g siesd I i § IR %
giera A Y aRE gRIT T8 TR & wehal
t 5 a8 39 ww 6 qemht &, S& g0 g
Ty, Fettd geE, g §9 1 HE 8 |
fyffad & @ S s el 9@ U
% arefi wifver 7T 3 2

(a) HeFa T
Fehelt gord
rveftar gl

#13 faanfen geas

(b)
(c)
()]

147. PafaRaa & @ #91, s T IR WtRd H

firen & et qeadw, ader I o= oW
et ¥ e are s w0 F foe witpa & 2

TGS A

w9 =aieh AR
fenafme

T =t =R wivege

(a)
(b)
(©)
(d)

148. &< Ui @fedn, 1973 H g/ 95 & A T

149.

150.

(46-A)

R fefafea & @ 6 aggatt #1 wHaEm
# e 9@ A Do | g R g
srfrpriat o iftnpdia we % forg wiftrepa &
Tt 2

1. Ui R Tt

BRI AT I GRE
TUTER-UF 3R IEH

uTq T AfufrEm, 1889 % IgEA W TN
T UTg-ES

9 few U F F T W G IW IR
(a) Had 13K 2

(b) Fael 33N 4

(c) Had 1,233

(d) Had23N3

Tz fafea owa €w w0 &, e =8 =fe g
yfskan g, 1973 i um 95 F o1efF fovg T
TUUEm H A I B H fow 3=
SR B AEET L B ?

(2) TI9H § Vet won & gHRE H aiiE 9
uge T

Togs o ¥ o ¥ weE A akE |
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o Vet Swon & wehre & adE |
= A8

o o et Swon & e f 9l |
o Hlg

ageEd o Y aug w % fag, g8 whe
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fora amew w1 it Wit 78T 8 2

(a) Toemn afmee

(b) IS "L

(0 gfoa refigres

(@) oW =t afge

2.
3.
4.

b)
(e)

(d)



145.

146.

147.
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The term under

Compensation Act, 1923 does not include :

(a)

“employee” Employees

A captain or other member of the crew of
an aircraft

(b) A person recruited as driver, helper,
cleaner in connection with a motor

vehicle

(c)  Any person working in the capacity of a

member of the Armed Forces
()]

A person recruited for work abroad by a
company

A Magistrate of first class may, under
Section 94 of the Code of Criminal Procedure,
1973, by warrant authorize any police officer
above the rank of a Constable to search a
place suspected to contain stolen property,
forged documents, etc. Which of the following
objectionable articles are not covered under
this Section ?

(a)
(b)
(c)
(@

Counterfeit coin
False seals
Obscene objects

A controversial book

Who among the following is authorized to
grant a warrant to search for a document,
parcel or other thing in the custody of the
postal or telegraph authority ?

(a)
(b)
(©
(d)

Sub-divisional Magistrate
Judicial Magistrate first class
District Magistrate

Judicial Magistrate second class

148.

149.

150.

(47 -A)

Under Section 95 of the Code of Criminal
Procedure, 1973, the State Government may
declare forfeiture and authorize Police Officers
to seize which of the following items ?

1.  Paintings and drawings

2. Photographs other visible

representations

or

3. Newspapers and books

4. Pieces of metal made in contravention of
the Metal Tokens Act, 1889

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 and 2 only
3 and 4 only
1, 2 and 3 only
2 and 3 only

What is the prescribed time limit within which
a person may make application to the High
Court to set aside a declaration of forfeiture
made under Section 95 of the Code of Criminal
Procedure, 1973 ?

(a) Fifteen days from the date of publication
of such declaration in the Official
Gazette

Two months from the date of publication
of such declaration in the Official

(b)

Gazette

(¢) Three months from the date of
publication of such declaration in the
Official Gazette

(d) Six months from the date of publication
of such declaration in the Official

Gazette

Who among the following does not have the
power to make an order under Section 98 of
the Code of Criminal Procedure, 1973, for
restoration of abducted females ?

(a) District Magistrate

(b) Sub-Divisional Magistrate
(c)  Superintendent of Police
(d) Magistrate First Class
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Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

This Test Booklet contains 150 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
There is no negative marking for wrong answers.

This Test Booklet consists of Two Parts, Part A deals with General Ability and Intelligence
and consists of 75 questions. Part B deals with Professional Skill and consists of 75 questions. All
150 questions are to be answered.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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